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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 38 questions. All questions are compulsory.
(it) This question paper is divided into FIVE Sections — A, B, C, D and E.
(iit) In Section—-A questions number 1 to 18 are Multiple Choice Questions

(MCQs) and question number 19 and 20 are Assertion-Reason based

questions of 1 mark each.

(iv) In Section—B questions number 21 to 25 are Very Short Answer (VSA)

type questions, carrying 2 marks each.

(v) In Section—-C questions number 26 to 31 are Short Answer (SA) type

questions, carrying 3 marks each.

(vi) In Section—D questions number 32 to 35 are Long Answer (LA) type

questions, carrying 5 marks each.

(vii) In Section—E question number 36 to 38 are Case Study based questions
carrying 4 marks each. Internal choice is provided in 2 marks questions

in each case-study.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section-B, 2 questions in Section—C, 2 questions in

Section—D and 3 question in Section—E.
. . . 22 .
(ix) Draw neat diagrams wherever required. Take 7= = ra wherever required,

if not stated.

(x) Use of calculator is NOT allowed.
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THEEH 20 TS A TAF T HT 1 36 2 |

1. kwagad oas e afisor e 3x —y +8=0dMM6x —ky + 16 =0

a9 8 3 EA &, 8 1
@A) -2 B) 2
© 3 O -3

2. fog P, foigatt A4, —5) @2 B(1, 2) %1 fieT aTet {@T@ve i 5:2 % SITd § Siedi & |

feig P o fcanien & : 1
5 -3 11
® (33 ® (7o)
13 13
© (7o) o [0
3. UHHATR %G (A.P.) ot a,,—a,, =488, H M AR 1
A) 12 (B) 16
€ -12 D) -16
4, ﬁ‘{ﬂ'l?lwav_@sz+x+1=O%1?T: 1
(A) dTEdfeeh AT HHH 8 | (B) AufaE |
(C) arEafess aen =T 8 | (D) drEdfes &R |
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SECTION - A 20x1=20

This section consists of 20 questions of 1 mark each.

1. The value of k for which the system of equations 3x —y + 8 = 0 and

6x — ky + 16 = 0 has infinitely many solutions, is 1
A) -2 B) 2

1 1
(C) 2 (D) - 2

2. Point P divides the line segment joining the points A(4, —5) and B(1, 2) in

the ratio 5:2. Co-ordinates of point P are 1
5 -3 11
A -, — B —.,0
@ (27 CHEX)
13 13
C —.,0 D 0,->
©) ( - j (D) = j
3. The common difference of an A.P. in which a;5—a;,; = 48, 1s 1
A 12 (B) 16
© -12 (D) -16
4.  The quadratic equation x2 + x + 1 =0 has roots. 1
(A) real and equal (B) 1irrational
(C) real and distinct (D) not-real
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5. afe HCF (2520, 6600) = 40 3T LCM (2520, 6600) = 252 x k&, Ak HTHAH R :
(A) 1650 (B) 1600
(C) 165 (D) 1625

6. @ TS TR H AABC fe@mn w1 2 37 DE || BC &, 3¢ AD = 5 cm, DB =2.5 cm
a1 BC =12 cm%,FﬁDEW%:

(A) 10 cm (B) 6cm
(C) 8cm D) 7.5cm

7. Afesin0=cos 6, (0°<0<90° %, M (sec 0-sin O) FIAF T :

®) ﬁ B) 2
C) 1 D) 0

8. T UM Ush HIY IBIA T | SHI ITET IX 3ATS AT Rl AN 10 H 3714eh 3T <hY Tfrehdn
2

@ 3 ®
7
© 15 O 5

9. aﬁawBagqa5x2+3x—7éw§w§,?hi+%amm%:

@ - ® ;3

© 3 ® -
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5. If the HCF (2520, 6600) = 40 and LCM (2520, 6600) = 252 x k, then the

value of k 1s 1
(A) 1650 (B) 1600
(C) 165 (D) 1625

6. In the given figure AABC is shown. DE is parallel to BC. If AD = 5 cm,

DB =2.5 cm and BC = 12 cm, then DE is equal to 1
(A) 10cm B) 6cm
(C) 8cm (D) 7.5cm
7. If sin 6 =cos 6, (0° <6 < 90°), then value of (sec 0 - sin 0) is : 1
1
A = B 2
@ 5 B) 2
© 1 D) 0o

8.  Two dice are rolled together. The probability of getting the sum of the two

numbers to be more than 10, 1s 1
1 1
A) g B 5
7 1
© 713 D) 75
i 1 1.
9. If o and B are zeroes of the polynomial 5x2 + 3x — 7, the value of ot B 1s 1
3 3
3 5
© = ® -

30/2/1/DA2AB/21 Page 7 P.T.O.



10. < ey et ABC @21 PQR @ IR SHST: 56 cm AT 48 cm & | PQ/AB SsX

2
(A) (B)

(©) D)

I3 |
J|co 3|6

11. AB @Y1 CD U 91 sl &I ST & S P W wfa=ee it & | 01 5 9 98l shem giv

(A) AADP~ACBA (B) AADP~ ABPC
(C) AADP ~ ABCP (D) AADP ~ ACBP

12. e forgl 3ATehai o Tceh J&I01 1 O 2 © w1 fea Sy, ol 7T 3ATehel ohl A1
(A) 2 ¥ I | (B) 2n ¥ g I |
(C) =& | (D) 2 ¥ ¥ & S |

13. T @9 U SIS & o1 T 6 § 55 Toh hl TEATE 3hd & | T H § ATgosd Th HIe
epTe T 39 W 3ifehd HEHT o Teh qUT a1 FEAT BIH ohi ITTIehdT & :

7 7
@A) %o B) =5

1 5
© 7o D) 79
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10. The perimeters of two similar triangles ABC and PQR are 56 ¢cm and

48 cm respectively. PQ/AB is equal to 1
7 6

(A) 3 B) 7
7 8

© 3 ® -

11. AB and CD are two chords of a circle intersecting at P. Choose the correct

statement from the following : 1
(A) AADP ~ACBA (B) AADP ~ ABPC
(C) AADP ~ABCP (D) AADP ~ACBP

12. If value of each observation in a data is increased by 2, then median of the

new data 1
(A) 1increases by 2 (B) increases by 2n
(C) remains same (D) decreases by 2

13. A box contains cards numbered 6 to 55. A card is drawn at random from

the box. The probability that the drawn card has a number which is a

perfect square, 1s 1
7 7

(A) 3o B) 35
1 9

© 7o D) 79
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14. & 7 3l #, g O 911 99 W foig P & WER wiwad wei-t@nd PA 3t PB @f=h
K IZIﬁPA=5cm%,?ﬁABﬁFFﬂ'§%:

(A) 5cm (B) 5\/5 cm
©) 2\/5 cm (D) 10cm

15. XOYZ W 311d & f|es 3y X(=3, 0), 0(0, 0), Y(0, 4) T Z(x, y) & | 38 T4
farenut I TS 2

A) 53T B) /53HE
(©) 2 + y25oh1g (D) 43FE
16. HHIE 3Gt (A.P.) —29, —26, —23, ....., 61 HIHTHIC 168 ?
(A) 11af (B) 16dt
(C) 10t D) 31af

17. & 7€ 3mepfa # O shg =Tel I W w-1@1 AT 8 | ae LCAT = 40° B, @1 LCBA i

TITC[%:
(A) 70° (B) 50°
(C) 65° (D) 40°

18. Ush THIETT o §Te, JTEATUhT ITUHT haTT o Jferehad s=l gRI JTedish ST =Tt & | 39
T SHEAT & JTHTERT T

(A) TIETH (B) dwgTh
(C) #re (D) dfER
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14. In the given figure, tangents PA and PB to the circle centred at O, from
point P are perpendicular to each other. If PA =5 cm, then length of AB is

equal to 1
(A) 5cm (B) 5/2cm
© 2\/g cm (D) 10cm

15. XOYZ is a rectangle with vertices X(-3, 0), O(0, 0), Y(0, 4) and Z(x, y). The
length of its each diagonal is 1
(A) 5 units (B) /5 units
(C) x2+ y? units (D) 4 units

16. Which term of the A.P. —29, —26, -23, ....., 611s 16 ? 1
(A) 11tk (B) 16th
(C) 10th (D) 31st

17. In the given figure, AT is tangent to a circle centred at O. If ZCAT = 40°,
then ZCBA is equal to 1
(A) 70° (B) 50°
(C) 65° (D) 40°

18. After an examination, a teacher wants to know the marks obtained by
maximum number of the students in her class. She requires to calculate

of marks. 1
(A) median (B) mode
(C) mean (D) range
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IS : TeH 19 7T 20 T Ik T T Teh ANTHUA (A) o o1e Tk deh & (R) fean 2 |

o 1 4wt foreped g

(A) THI ATHHLA (A) T Th H2F (R) T & | Toh B (R), AR (A) i =
HATR |

(B) < 310heH (A) 9T dh oH (R) T @ | deh 2 (R), 3110heH (A) i e
TE TR |

(C) YA (A) T 8 T b H2H (R) T B |

(D) SANTHUT (A) 3 & TTe(h db v (R) T 2 |

19. 3fmpeE (A) :’JﬁsinA=%(O°<A<900)%,FﬁcosAf‘=b"ftl'F[2A3@% | -

Teh BT (R) : T 1071 0 o TTT sin2 0 + cos2 0 = 1.

20. IAHAA (A) : 10 cm 4T IS G THT DI bR AR W@ & o7 T T4 T IOl
TR &%e 1200 cm?2 § |

T e (R) : =1, TEehl Y11 10 cm B, o T BeTeh i &%et 100 cm? # |

gis - g

HEEHS T EaAT IS & 2 IF & |

21. FTHEA (15)", Th YTehd HEAT n < fIT, 37k 0 T THTH & Tehell & ? SHROT ST |
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19.

20.

21.
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Directions : In Question 19 and 20, Assertion (A) and Reason (R) are

given. Select the correct option from the following :

(A) Both Assertion (A) and Reason (R) are true. Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true. Reason (R) does not give

correct explanation of (A).
(C) Assertion (A) is true but Reason (R) is not true.

(D) Assertion (A) is not true but Reason (R) is true.

22

Assertion (A) : If sin A :% (0° < A <90°), then the value of cos A is 3

Reason (R) : For every angle 0, sin?0 + cos2 60 = 1.

Assertion (A) : Two cubes each of edge length 10 cm are joined together.

The total surface area of newly formed cuboid is 1200 cm?2.

Reason (R) : Area of each surface of a cube of side 10 cm is 100 cm?.

SECTION - B

In this section, there are 5 questions of 2 marks each.

Can the number (15)%, n being a natural number, end with the digit 0 ?

Give reasons.



22.

23.

24.

25.

26.

FTa ShifTe f6 3wt A(1, 0), B(=5, 0) a2 C(—2, 5) & &t Byt ABC &t Biy= & |

(a) 2 sin? 30° sec 60° + tanZ 60° T HH FATd SHITTT |
3T

(b) e 2 sin (A + B) =~/3 7T cos (A — B) = 1 &, a1 I A a1 B &l 919 1
$HifSe, 0 <A, B, (A + B) < 90°.

& TS 3Hfa H, AB @1 CD, %5 O 9Tt I <l &) T9ei—@md § | =1 /BAC = Z/DCA ?
9 I T Y HIfT |

(a) Tagadl (3, —5) AT (—1, 6) I A TN WTEUS W@ y = x G foh8 AT H
fofoa g g 2

AT

(b) A3, 0), B(6, 4) a1 C(-1, 3) T AABC = 3fi¥ g | Tiferest BE i &faTs 3ma
SHifST |

Qug - T

TEEH6THA AN TAH & 3 H 3 |

(a) Ife T G IS (A.P.) % 9UH m Tel 1 INTHS 36 UUH n 981 (m # n) %
e o THM 8, T GATST foh 0 Y2H (m + n) UEH 1 AMTHSA I3 8 |

AT
(b) Teh HHI A1 & o SHATTA Te] oh1 ANTHS 24 & TUT ST 11 b1 ATHeA 194 B |
T T HIT |
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22. Find the type of triangle ABC formed whose vertices are A(1, 0), B(-5, 0)

and C(-2, 5). 2
23. (a) Evaluate: 2 sin2 30° sec 60° + tan? 60°. 2
OR
(b) If 2 sin (A + B) =\/§ and cos (A — B) = 1, then find the measures of
angles A and B. 0 <A, B, (A + B) <90°. 2

24. In the given figure, AB and CD are tangents to a circle centred at O. Is
/BAC = ZDCA ? Justify your answer. 2

25. (a) In what ratio is the line segment joining the points (3, —5) and (-1, 6)

divided by the line y = x ? 2
OR
(b) A(3, 0), B(6, 4) and C(-1, 3) are vertices of a triangle ABC. Find
length of its median BE. 2
SECTION - C

This section consists of 6 questions of 3 marks each.

26. (a) If the sum of first m terms of an A.P. is same as sum of its first n
terms (m # n), then show that the sum of its first (m + n) terms is zero. 3

OR

(b) In an A.P., the sum of three consecutive terms is 24 and the sum of
their squares is 194. Find the numbers. 3
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27. Tz hifi o6 /5 Tt st g 2 |

28. (a) TS I H, hg O I I i Th TRI-@1 PQ & a1 L/ BAQ = 30° &, I
g3isu f BP = BQ |

AYAT

(b) & TS IR H, AB, BC, CD 1 DA g O a%l Id 6l T9-1@Md § |1 Th
=qdst ABCD st & | s foh

Z/AOB + ZCOD = 180°

l+secO—tanO® 1—sinb
29. fog ;'1+sec6+tan9_ cos O -

30. Wk qden ® 100 feenfri o 50 49 g 3/ fie feg mu g

T : 0-10 | 10-20 | 20—-30 | 30—-40 | 4050
Terenfiat <ht v 12 23 34 25 6
Tt gry gtg 3TeRt 1 T1ed T hifv |

31. 2-37hi I T TEAT H $HTS T 37eh Hh GaTS o 31 U 5 HA & | I 37h! I UGS
36 2 | §&AT 1 ST |
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27. Prove that \/g 1s an irrational number. 3

28. (a) In the given figure, PQ is tangent to a circle centred at O and

ZBAQ = 30°; show that BP = BQ. 3
OR
(b) In the given figure, AB, BC, CD and DA are tangents to the circle
with centre O forming a quadrilateral ABCD. 3

Show that ZAOB + ZCOD = 180°

l+secO—tanB 1-—sinb

29. Prove that 1 +secO+tand- cos0 3
30. In a test, the marks obtained by 100 students (out of 50) are given below : 3
Marks obtained : 0-10 | 10-20 | 20—-30 | 30—40 | 40-50

Number of students : 12 23 34 25 6
Find the mean marks of the students.
31. In a 2-digit number, the digit at the unit’s place is 5 less than the digit at
the ten’s place. The product of the digits is 36. Find the number. 3
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Qg -¢
FAEIS H 4 T & | T S 5 S h1 8 |
32. (a) Aoy faf g fe gefisstor fem v gt 31a il
Sx+y+4=0aq3x—y+2=0

YT

(b) ORI I Tk Y& H 40 37 ITH ohU Safeh Tcdeh T&l 3T o 3 37 it 9o Ideh

TTAd 3T RT 1 3Tk el AT | Ife Tk Tl ST b 4 376 el 9T Tdeh Toid I
% 2 30 e, A1 IH 50 3ok firelll | I A gY o 3o @l vl & s fen &,
ST T <h! HEAT AT I |

33. (a) 3fe foreft Frvgst <Y weh YT < wwieR 311 §1 el whl - i faigait w wfoese
FHH o foTe ws W@ i s, 1 g Fife f6 A 3177 g1 yod v & 3rdTa |
fawiioa g1 ST € |

e
(b) TS Y ABC i Yot AB 3R AC @1 BIfeshl AD U 31 Bgst PQR &
13l PQ 3R PR a1 ATfEeh PM @ shAST: TETET 8 | g915W 76 AABC ~
APQR |

34. FETS 45 m 9Tl Ush AT5< 813 o 3er ¥, gueh! faadiq fesmadi @ 319 ot €1 Srgi 6
JTEHA 10T 30° T 60° UTT TTT 3 | Ffe TES oh! firet™ arefl &1 +15e 813 o IR &
TS 2, o STt % e 6t gl 7ma R | (/3 = 1.73 = 1)

35. 5.6 m 591 % U 99 % U Frsu@vg @1 afem 20.0 m 2 | rerave 1 sEwd T
I |
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32.

33.

34.

35.

SECTION -D

This section consists of 4 questions of 5 marks each.
(a) Using graphical method, solve the following system of equations :
3x+y+4=0and3x—-y+2=0
OR

(b) Tara scored 40 marks in a test, getting 3 marks for each right

answer and losing 1 mark for each wrong answer. Had 4 marks been

awarded for each correct answer and 2 marks been deducted for each

wrong answer, then Tara would have scored 50 marks. Assuming

that Tara attempted all questions, find the total number of questions

in the test.

(a) If a line is drawn parallel to one side of a triangle to intersect the

other two sides in distinct points, then prove that the other two sides

are divided in the same ratio.

OR

(b) Sides AB and AC and median AD to AABC are respectively
proportional to sides PQ and PR and median PM of another triangle

PQR. Show that AABC ~ APQR.

From the top of a 45 m high light house, the angles of depression of two

ships, on the opposite side of it, are observed to be 30° and 60°. If the line

distance between the ships. (Use \/5 =1.73)

joining the ships passes through the foot of the light house, find the

The perimeter of a certain sector of a circle of radius 5.6 m is 20.0 m. Find

the area of the sector.

30/2/1/DA2AB/21 Page 19
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39 GUS T 3 TehiUT HATHTRA I & T8 Jih & 4 37 & |

T Tig ga1 # 38 SR hehl TS 6 ¢ Yehvg % A1 gEh! S, 1 IR fig @
h Hiet 8 G 9g9¢ h = 25t — 5t2 G AH HI K1 |

36.

TEUE o UTH T ITTCHh hieh - T o I GITIT :

(i) feumesgae = v fetfn |

(i) g grr ST <Y 778 Stfrekan gft Jma i |

(i) (a) U heh % foha THA & ITETq g 30 m T Ha1s W BT ?
JreaT

(i) (b) & 7EH HTE 20 m Bl t o 1 forfir= 7 31 hifsre |

37. ‘Heh¥ WG HoId: Tehdl (J) o HHM & 2 | Th oG AR &3 H T-a i 3R 99

yirequr wfga fafi= o SRisr g o T SRed e o & |

Teh Heh 1 ¢ 8 m hl TS deh AR & T 3Heh HTL YR g | STUR T ITH
28 m B AU ST HFoT S8 18.5m B |

U o SR R = 991 o 3T T
() YFEThR 9T < fades g F1d i |
(i) <2 % B BT FABA T HIWT |
(i) (a) oM T YA BN STl IS T &IFh T I |
AYAT
(iii) (b) 3T @Il &< T &A1 1 et TG 1A HITT |
30/2/1/DA2AB/21

Page 20



36.

37.
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SECTION - E

This section consists of 3 case based questions of 4 marks each.
A ball is thrown in the air so that t seconds after it is thrown, its height h
metre above its starting point is given by the polynomial h = 25t — 5t2.

Observe the graph of the polynomial and answer the following questions :
(1) Write zeroes of the given polynomial.
(11) Find the maximum height achieved by ball.
(111) (a) After throwing upward, how much time did the ball take to
reach to the height of 30 m ?
OR
(111) (b) Find the two different values of t when the height of the ball was
20 m.

The word ‘circus’ has the same root as ‘circle’. In a closed circular area,
various entertainment acts including human skill and animal training are
presented before the crowd.

A circus tent is cylindrical upto a height of 8 m and conical above it.
The diameter of the base is 28 m and total height of tent is 18.5 m.

Based on the above, answer the following questions :
(1) Find slant height of the conical part.

(11) Determine the floor area of the tent.

(111) (a) Find area of the cloth used for making tent.

OR
(111) (b) Find total volume of air inside an empty tent.

Y



38. Bfe o feai o weh wa ° 120 ARRA A 79+ frsedt gigai # wam fopw 70 amga & Wi
o IR H gST T4 | 7 15 -=TE 39 9l o TIT ST @ |

UTE-=TE & SFTetieh & i 991 o SR i
() 3fe Agosa Tk SAfh AT T, T 36h 99 JYaT B9 (FFS) R A1 i i
TRehdT ATd SHITT |
(i) Ted 3ferek yaferd /qadier TiasH 1 |1eH i A1 8 3R foha= Sl 3 38ehT SUm
fomam 7
(iii) (a) Ve AGTSAT G4 T SAfh o ¢ GHIT 7 T hl TRIhdT 4/5 g T 1A hIfTT
ferd= SIRTH 1 21 T =T ok
YT
(iii) (b) Ve ATGeDAT A T ATh GRI TS STETS o SN i hl JTRIHhaT 7/60 7, Tl
FATE SHET g 3RSt 31 Ta hifre, Ife 38R wfd =3t 2 5,000 for |
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38. In a survey on holidays, 120 people were asked to state which type of
transport they used on their last holiday. The following pie chart shows
the results of the survey.

Observe the pie chart and answer the following questions :

(1) If one person is selected at random, find the probability that he/she
travelled by bus or ship.

(11) Which is most favourite mode of transport and how many people
used 1t ?

(111) (a) A person is selected at random. If the probability that he did
not use train is 4/5, find the number of people who used train.

OR

(i11) (b) The probability that randomly selected person used aeroplane is
7/60. Find the revenue collected by air company at the rate of
5,000 per person.
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